1/N
=
<

Ratio to ALICE

2 -1-
o N/dy,dp_[(GeV)Y

=

0.5

900 GeV pp Soft QCD
= 1 - - r 1 T - T L R
- PT(K) (Iyl < 0.75) :
[ &, ]
- m ALICE § - =
— --f3-- Herwig 7.2.0 default —
— —— Pythia 8.205 default m
| 4 Sherpa 2.1.0 default ]
_ | | | | | | | | | | | [ ]
: T T T T | T T T T | T T T |:
= ” *-0 -
n B e . ]
L \—ELEL 0...0.._’ PORR Y TR S L ‘ _
: ----- :

o
" 1 1 1 1 | " 1 1 1 1 " | " 1 1 " 1 " |
0 1 2 3

Rivet 3.1.0, = 5.5M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


